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uyd qard

wen

1 Tt =61 et e # A 2
(A) Foqata ®) FIRATF
(C) s faerst (D) ==
Who was the first Sultan of Delhi ?
(A) Tltutmish (B) Qutb-ud-din Aibak
(C)  Alauddin Khilji (D) Balban

2 ez e =i w7
(A) st e (B) e wwE
(C) #Fed= (D) feé fefeim

Who discovered Nitrogen ?
(A) Benjamin Franklin
(C) Karl Benz

(B) Daniel Rutherford
(D) Richard Gatling

3 SN o1 & T A 2 7
(A) = ot 391 % Foafa <o s & s S I &
(B) = foelt 391 % s1mamd o0 FAd d s s 9 &
(C) = foreft 397 o hé =mam 2 2
(D) fepeft 9 1 =T wefferd 2 &
What is meant by a ‘trade deficit’ ?
(A) When a country’s exports exceed its imports
{(B) When a country’s imports exceed 1ts exporis

{C) When a country has no trade at all
(D) When a country’s trade is balanced

4 I T (7 AT ed) F F T T 7 A wawe, e s v & daw g F g d
peay e & Tl ST e m e |
(A) wEEd (B) Fagdr (C) Torcism (D) et A weaar

Name the traditional form of wrestling in Uttar Pradesh (including other States), which wrestlers practice
in a specially prepared mud pit called an Akhada.
(A) Mallakhamb (B) Kabaddi

(C) Silambam (D) Kushti or Pehalwani

5 forr et 3 ta i et we - g F e, s, Hife i sifes sea o & fog o e s &

Frdré it 12

(A) qmAZAL (UNEP) (B) THELSL(FAO)  (C) ¥ (UNESCO) (D) faw s

Which institution released the report titled *Sand and Dust Storms : A Guide to Mitigation, Adaptation,
Policy and Risk Management Measures in Agriculture” ?

(A) UNEP (B) FAO (C) UNESCO (D) World Bank

6 PAN &1 W0 E7 T2 7
(A) Az s Fa (Fft e wem)
(C) el T2 3 (SATvRTd Sl A1)
What is the full form of PAN ?
{A) Private Account Number
{C) Personal Account Name

(B) TWATE SIS Fa (S T Hem)
(D) TEE SIS Ta (SR @ HET)

(B) Permanent Account Number
(D) Personal Account Number

7 A F GST Aisel # gt (o) Fraen 2 :
The number of structures in India’s GST model is :
(A) 4 (B) 6 (S (D) 3
8 WTO % TaHH TETEa i & 7
(A) Tl mfess (B) =irsft =g
() =f=rda= (D) ufr dfEm

Who is the current Director-General of WTO ?
(A) Claudia Goldin
(C) Hemando de Soto

(B) Ngozi Okonjo-Iweala
(D) Eric Bettinger

9 frafafad & & S-a7 SToad J= T & 7
Which of the following is the GST common portal ?

(A) www.gstgovin (B) www gst.com (C) www. gstin (D) www.gov.in
10 Fopa T 1 o] WO T AT # 7 .
(A) e (B) Tewmra (C) Wrez TEwEE (D) F=TIEa

Which mountain is called the ‘Blue Mountain® ?

(A) Nilgiri (B) The Himalayas (C) Mount Everest (D) Mount Fuji
11 it Su=rma 5 viiewrEr Rk g ot mar o 7
(A) st et (B) famegpi (€) =F freza (D) Hies Tifaw

The celebrated novel * The Godfather” was authored by whom 7

{A) Mario Puzo (B) Victor Hugo (C) John Milton (D) Harold Robbins

12 et o ufearel i 7E o fed tE ST e
(A) TpEHETEE
(C) TEABITH  (HTF=STE)
Earth’s Albedo is largely affected by the :
(A) Atmospheric layer
(C) Cloudiness

(B) e i were o &
(D) aTgHEa H e F0 H

(B) Nature of the Earth’s surface
(D) Dust particles in the atmosphere

13 S = = T g s o

(A) Trsiers St
(C) e siea it it foem

(B) ImHEe
(D) = i

The structure of DN A was discovered by whom 7

(A) Rosalind Franklin
(C) James Watson and Francis Crick

14 o 38 = e o feriteror =7 el o o
(A) Fger d% i s
(C) o =i e

(B) Gregor Mendel
(D) Charles Darwin

(B) wneia food d%
(D) W =22 i

Which bank supported the demonetization in India ?

{A) Central Bank of India
(C) Bank of India

(B} Reserve Bank of India
(D) State Bank of India
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Frefefian 3 g e smme  Heemsicn SHERT 1 GEE F F o i #1 arwe = mhe 27

(A) wTEEEfem ®) T

(C) WHE (D) fEfEm

Which of the following cybercrimes involves deceiving individuals into revealing sensitive information 7
(A) Cyberbullying (B) Hacking

(C) Malware (D) Phishing

it 3 e TR I A AT e W )

(A) ®idh (B) et &

(C) W arrg (D) Tz 3R

The first Indian to receive the Nobel Pnze in Literature was .
(A) C.V. Raman (B) Mother Teresa
{C) Sarojini Naidu (D) Rabindranath Tagore

AT S T AT R

(a) gz (B) afel (©) s (D) Fer
Which is the capital of Germany ?

(A) Madrid (B) Berlin (C) Abuja (D) Canberra

ZISH ST %2 AICRISSH ST T2k M1 T STel T o |

(A) T (B) HwEE (C) ®efwe (D) Tam
Trojan virus was released on numerous SolarWinds Oron Platforms.

(A) Spy (B) SUNBURST (C) Rootkit (D) Ransom

et ¥ W QAT (TS HEET) FATAN E 2

(A) T (B) R (C) Freiferm (D) TirzamT

What is the name of Earth’s first super continent ?

(A) Vaalbara (B) Pangea (C) Columbia (D) Gondwana

maww%mmﬁmﬁa%ﬁﬁwﬁwm%?

(A) ST gEr T ®) ‘

(C) #gHTEZ (D) fag s dre

Which organization provides loans and grants to the world’s poorest developing countries ?
(A) International Monetary Fund (B) World Bank

(C) United Nations (D) World Trade Organization

e 3 e wiftreen =i Frafafiad s denfa w g

(A) HEFET (B) @i sromredt (C) SrEmTT (D) STz
In Vedas, human right is signified with the concept of :
{A) Equality (B) Economic system  (C) Inequality (D) Untouchability

= o o T o e feamr & = 8 wamn s 2 2

(A) 15 wi=r (B) 14 ziter (C) 16 Ah= (D) 13 e
Which day is celebrated as *World Art Day’ every year ?

(A) 15% April (B) 14" April (©) 16™ April (D) 13 April
Wﬂﬁﬁﬂwmaﬁa‘naszg@wﬁm%:

(A) I % TEA i = (B) e THT | T T ST

(C)  #tstans <t Fogfen <t o & (D) Tsgta ST < IgEm #

Article 352 of the Indian Constitution primarily deals with :

(A) Proclamation of the formation of a new state (B) Proclamation of dissolution of the Lok Sabha
(C) Proclamation of appointment of CJ1 (D) Proclamation of national emergency

Wl S TEHEE (SC/ST) FE H I F A 34 % (o WA FEw G0 FAA A qE
Feramn T

(A) Szamifem (B) fEaif (€) = dfem (D) fefea e

Which progamme was launched by the Indian Government to promote entrepreneurship among women
and SC/ST communities ?

(A) Stnd-UpIndia (B) Skill India (C) Start India (D) Digital India

foreaTR AT T 1336 7 e grr e ot 0

(A) ForEmE (B) e i ga
(C) Ffewer gegan (D) IR T
The Vijayanagara Empire was founded in 1336 by :

(A) Krishnadevaraya (B) Harihara and Bukka

(C) Namsimha Saluva (D) Devarayal

T v & e € T s FafaF 2|

(A) 20 fuferam (B) 10 fuferam () 15 fuferam (D) 5 fuferas
Mega cities are the cities having a population more than @

(A) 20 million (B) 10 million (C) 15 million (D) 5 million

ﬁm;mﬁmﬁmwa%m wETTe & % A # 60 79 F ST F a8 =Ea T 3,000 ¥ 7 T TE_
FATE?

(A) W T o g A (B) Wem et it st s areen

(C) T e smredt (D) S Wt o AT arE

Which Indian scheme aims to provide a pension to unorganized workers, assuring a minimum pension of
% 3,000 per month after the age of 60 years ?

(A) Pradhan Mantri Shram Yogi Maandhan (B) Pradhan Mantn Jeevan Jyoti Bima Yojana

(C) National Pension System (D) Pradhan Mantd Vaya Vandana Y ojana

“Z FiTehew ST AT g s go fordt 7 2

(A) 33 Trefem (B) Trstes =ger () Hrma e (D) 3 AT AT 2ok
“The Chronicles of Namia” series is written by whom ?
(A) 1K Rowling (B) Roald Dahl (C) C.5.Lewis (D) JR.R. Tolkien

S AT AT % WIS # SEEAT % ST e ATl S ST o IO a1 e @ 5w At
AT T 3 A v AT e e g

(A) TR SHEE Aty (B) ¥ s Aty

(C) it & e afg (D) aTeqe sEET 9

The number of people entering a population through *birth” or immigration” being equal to the number of
people leaving it via ‘emigration’ or “death” is called :

(A) Negative population growth (B) Zero population growth

(C) Rapid population growth (D) Positive population growth

AT ATl S AT Weam (ITEC) FTam 1 3590 T E 7

(A) T aram = fafmm = (B) WIEFf STEH-T3H FI TgwT 3

(C) HawErTagH (D) Tk WETT U TRETET T T
What is the purpose of the Indian Technical and Economic Coof ion (ITEC) programme 7

(A) Regulating financial markets (B) Promoting cultural exchanges

(C) Enhancing military cooperation (D) Providing technical assistance and training

FIAE ST T SIS T % o ¥ fere ftar s war % Sere e i § S e
ST T A A W R 2

(A) iR HEEE (B) e wwgdtan

(C) Frar==ia (D) wifzae T

‘Which international agreement focuses on the protection of the ozone layer by phasing out the production
of numerous subst: [ ible for ozone depletion ?

(B) Paris Agreement
(D) Montreal Protocol

{A) Kyoto Protocol
(C) Geneva Convention
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32 et it Sterarg et 3 fer St o6 i wi
(A) T . (B) -arfr =T
(C) WerarE e (D) wH ST
The primary source of energy for the Earth’s climate system is :
(A) The Sun (B) Geothermal energy

(C) Ocean currents (D) Nuclear energy

33 o fopm Tem ot < sioied T iR ve sromm smres foam & =0 A amE S e 7
(&) suR (B) 4ur ©) 7= (D) 6ur =
Which day is observed as the ‘International Disarmament and Non-Proliferation Awareness Day” every
year ?
(&) 5™ March (B) 4™ March (©) 7" March (D) 6" March

34 e €1 ¥, o et T e e o 2023 B wiew § wrermr e 2
(A) et sfei e srge
(B) H¥iteT siatiia g srger
(C) TR FEETNTE Tt ST €T S1g8T
(D) e FaraTsht TR s T e
Recently, which Indian airport received recognition at UNESCO’s 2023 Prix Versailles ?
(A) Indira Gandhi International Airport
(B) Kempegowda International Airport
(C) Sardar Vallabhbhai Patel International Airport
(D) Chhatrapati Shivaji Maharaj Intemational Airport

35 T TTEZH UUE RN T TR ¥ o A E
(A) ¥z wdt (B) 3w Fo s
(C) Wt 3, W (D) s fofe

Who is the author of the book “Human Rights and Inhuman Wrongs™ ?
(A) Upendra Baxi (B) V.R.Krishna lyer
(C) Soli I Sorabjee (D) Chiranjivi Nirmal

36 Tt o & -t AierReT S ase E 2
(A) g (B) @I (C) T (D) forerez
Which of the following is the capital of Bangladesh ?
(A) Khulna (B) Dhaka (C) Rajshahi (D) Sylhet
37 AR H fad ST S e o S R T R 7
(A) Tregafa (B) weawwHAT
(C) #& (D) Farewiett

Who has the authority to declare a financial emergency in India ?
{A) The President (B) The Prime Minister
(C) The Parliament (D) The Finance Minister

38 i Ured wod wee @wer iz wEfE g F & o, F wreaw @ oty s #iR
Sfi-Femte S & =i o e e Tk E |
(A) U wTET (B) SFRTeH (€) =Erige (D) WA
Facebook customers can find out about special offers and on-demand promotions via , one of the
most important social media marketing tools.
(A) Post Planner (B) Agompulse (C) Chattypeople (D) SocialOomph
39 aft ‘BEAR® # *25-22-26-9" ¥ &1 # Fifea foram < 2, 1 TIGER® 1 3% wifsa forr s 2
If “BEAR’ is coded as ‘25-22-26-9°, how will ‘TIGER’ be coded ?
(A) 7-9-11-4-17 (B) 9-10-13-6-17 (C) 8-9-12-5-17 (D) 7-18-20-22-9
40 e # ST HE g Hif|
Find the next number in the series.
16, 10,20, 14, 24,
(A) 18 (B) 28 ©) 12 (D) 16
41 g g i
ST : A :; STEnfer ;
(A) 7@ (B) = () T (D)

Complete the analogy :
Thermometer : Temperature ;- Odometer : 7

{A) Pressure (B) Weight {C) Speed (D) Distance
42 STEAH HEATT 3 e |

Find the dissimilar numbers.

(A) 9,12 (B) 15,60 (©) 5,20 (D) 10,15
43 o e (i) F1 S a1 (of) T 60 ot % o g gu A () 7 afees e s E |

OISt AT (- ) T SRR T S

(A) WA () (B) sAfiweer (@EwEs)

() e ) (D) e (oferea)

A cylinder is intersected by a plane inclined at an angle of 60 degrees to its axis. What is the shape of the
resulting cross-section ?
(A) Parabola (B) Hyperbola

(C) Spiral (D) Ellipse

44 wek e |, e faanl o i d 43 ¥ uer, o, e, 2 o ugad | ue, B S ama d ad ) a9,
e i 3fas Fal e 21 ueH v Bn W A | 3w, e Fam dad 2 e A e A 2 0
() = B) 3 © T (o) frm
In a conference, five participants are seated in a row: Alan, Bob, Chrs, David and Edward. Alan is not
next to Chris. Bob is seated between Alan and David. Alan sits on one end. David is not next to Edward.
Who is seated in the middle ?

(A) Bob (B) David (C) Alan (D) Chris
45 52 ol i we g g Fisher i i w80
What is the probability of drawing an ace from a pack of 52 cards 7
2 1
A —— —
(A) % (B) T
© = o =
52 13
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TS sjen | et SRt e it |
Find the next figure in the given series.
?l"l?%!@?ﬂ:

Given series :

IR P
W] Wf ] e[

el # e (35T % 7@ ff)
Find the odd one out in the series.
Al, €9, E25, G49, IR9
(A) C9 (B) 189 (C) E25 (D) G49

e wfeet 3 e, afd S S ¥ SR o gere 2 & At s B af < g fire | awad € s
T ST A HT ST I AT o A e & 17 S 7 S e

(A) 45ad B) 36§

(€) 63ad D) 54

A lady said, “If you reverse my age digits, you'll get my husband’s age. He is older, and the difference
between their ages is one-eleventh of their sum.” What is the man’s age ?

(A) 45 years (B) 36 years
(C) 63 years (D) 54 years

et 1 e faflra s o 11 @ waifia & | 3wt g w7 s = g, S 1, 1V @ gt 2 ) 3w s
i stz 3w st =1 = i i 1y % T w e |

Figure I is related to I in a certain pattern. Following the same pattern, figure 11T is related to IV. Study the
pattern and select the answer figure which should be placed in place of IV,

P 2 K
B[] B |u] o |27
S q D
I I 1 v
I ST -
Answer figures :
a a a K
(A) © (B) @ ) K (D) o]
A K o] a
Frferfiga sgfa # s raen 3@ Fif |

Determine the number of triangles in the following figure.

(A) 13 (B) 16 c)y 7 Dy 9
fo m Fereat & form (3frs) =1 3 Sfifsrw

(a) = (B) () e (D) Wi
Find the odd one from the given alternatives.

{A) March (B) June (C) July (D) May
e o e el @ sverea Hifu

Study the figures given below :

IR

et femamo Fet 3 & e o gy form i e fa g et ot v o 5 Forwrerdt g o |

From the figures given below, choose the figure that will be most suitable to continue the pattern given

R

1 1l 1 Y v
[V (B) 1 © 1 1

e # St s g i |

Find the next number in the series.

145, 155, 175, 205, 245, 7

(A) 285 (B) 295 (C) 300 (D) 290

7 TE SRR R &, 3 3 it 3 S o A e F w uE wEe ((F) F e |

Out of the given figures, find the 3 figures that will form a square, when fitted together.
1 11 1 v

(4) LILIV (B) LILIV

(C) ILILIV (D) L1IL11

A CHAT R C siQ aed &; 2, Q i wi @ afw p, Z #1921 2 | Friferfiam § & #-wmr e wea 2

(A) PATIWMIR| (B) P 3 A=A @R E

(C) Csmpasiel D) QAFAMEI

A is the son of C; C and Q are sisters; Z is the mother of () and P is the son of Z. Which of the following
statements is true ?

(A) Pis the maternal uncle of A_ (B) Pand A are cousins.

(C) CandP are sisters. (D) Qs the maternal grandfather of A.

T ¥T5% T TAT SRS 5§ & deifid 79 2

(A) @ diam) (B) W © f= (D) =
Find the word that does not belong to the set.

(A) Lead (B) Copper (C) Tin (D) Steel
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e e oz & e et 3 < F ferw et W famm i B --Select-- ] Choose File | No file
a. w23 d 28wt
b. T ST AT AT A |
o A 60% S 3 A g e i die farf) | Submit Objection |
A ST 506 A 25 5F |
e. i etz % wra PG 79T &, i wrwen afts wehe gee i e 9= "k
£ A gl & O e T R, AT A i H 3 T wder e g
s gﬁzﬂﬁzﬂna@wﬁmaﬁm A7 Tt ATEATAT F1 T A 2, AT A 7 3 R s s
I
Frerferiia ST s T wE ¥ o S wa frae e 2
waﬁm © 68% ST AT MCA | 377 30 T9 | S0TR ¥ ¥9 F 2.5 99 1 57 | S A 40 sFw AW
I
(A)  FTEET T SR S W FH O A e
(B) e 7 % Fraere i S &
(C) FersvAm E
(D) Swfiear o =i 2 foe e 2
Consider the conditions for selecting faculty bers in a I ducation centre :
a.  Age between 23 to 28 years.
b.  Work experience or programming experience.
c.  Postgrad degree in P pplication with at least 60% marks.
d.  Minimum of 25 marks in the interview out of 50.
e.  Ifthe candidate does not have PG, the case is to be referred to the senior faculty member.
If the candidate does not have work experience, the case is to be referred to Principal of the institute.
g [If the candidate satisfies all other qualifications except the age limit, the case is to be referred to the
Director of the Centre.
Which course of action should be taken for Babli Sarkar based on the following information ?
Babli Sarkar : MCA with 68% marks. Age 30 years. 2.5 years of experience as a programmer. Obtained
40 marks in the interview.
(A) Candidate is to be selected as a junior faculty member
(B) Case is to be referred to the Director of the Centre
(C) Datais inadequate
(D) Candidate is not to be selected
ﬁmﬁ%&;&aﬁéwmﬁﬁqﬁuﬁm{a 8, 10 3% 12 & Fererfora fopem srran 2, @t adt festferat o 3 9w B [--Select-- Choose File | No file
Find the least number which when divided by 4, 6, 8, 10 and 12 leaves the remainder 3 in all cases.
(A 132 (B) 123 © n7 (D) 120 | Submit Objection |
wE FREH 1, Wmﬂﬁﬁlﬂi&ﬁaﬁlﬁ:ﬂql%% ﬁ%ﬂﬁ??ﬁ%w%lﬁ'{ﬁﬁm%lﬂﬁ B --Select-- Choose File | No file
307 & sferes S ¥ 135 7o At €, A Fwan # i i o vew i 2 o
In a factory, 60% of the workers are above 30 years and of these 75% are males and the rest are females. If Y
there are 135 male workers above 30 years, the total number of workers in the factory is - | Submit Objection |
(A) 200 (B) 300 {C) 150 (D) 180
T e o S 20% % AT o oAt % % 548 | 0 W s Gte § e s & | a1 de ok ufa s wdt A --Select-- Choose File | No file
ghmaTe?
A 20% reduction in the price of an apple enables a man to buy 10 apples more for ¥ 54. Then what is the
reduced price of apples per dozen ? Z | Submit Objection |
(A) T1296 (B) ¥14.32 {C) T1448 (D) T10.80
Eﬁmﬁ,gﬁqﬁﬁz:s%wﬁamwéﬁiqﬁﬁmﬁﬁﬁz Iéﬁzﬂiwmﬁﬁaww B --Select-- Choose File | No file
® 1 2 frmat # wwlt #1 v v e s # e S e aife A fe § g st %
ST AE ? y
In a glass, milk and water are mixed in the ratio of 3 : 5 and in another glass they are mixed in the ratio of ) | Submit O bjection |
6 : 1. In what ratio should the contents of the two glasses be mixed together so that the new mixture
contains milk and water in the ratioof 1 : 1?7
(A) 8:3 (B) 20:7 (C) 25:9 (D) 27:4
72 GEAHT B A e 60 TRIH % A e & S & | o o i a2 B --Select-- Choose File |No file
The cost price of 72 books is equal to the selling price of 60 books. What is the gain percent ?
W - . .
() 16%% (B) 20% © R%% (D) 18% 4 | submit Objection |
a2 3 FE 507 60 T F TR & ST 60 F 5077 7 H = AT 2, W e wfeww w0 D --Select-- Choose File | No file
If bananas are bought at the rate of 60 for ¥ 50 and sold at the rate of 50 for T 60, what is the profit
percent ?
W - . .
*) % (B) 66% © 48% ®) 4% 4 | submit Objection |
12, 18, 20, 25 %7 E5as @A (LCM) T Fifw | D --Select-- Choose File | No file
Find the LCM of 12, 18, 20, 25.
A) B8O B) 860 920 D) 900 W - . .
@ ® e ® - | Submit Objection |
Aﬁm“ﬁsﬁaﬁ{t{aﬂ%ﬂ B O & 50% ST o T 2 | AfE 3 v W e i 27 e g C --Select-- Choose File | No file
Al B 3Tt &1 gail RieHT W e 2
(a) 3t (B) 30f ) 45t (D) 40T Y | - — |
A takes 50% more time to complete a work than B. If together they take 27 days to complete the work, Submit O bJeCtIOn
how much time shall B take to doit alone ?
(A) 35 days (B) 30 days (C) 45 days (D) 40 days
A fafiga s 61 120 fodt F a0 w6t 31 B, A # 60% iferes et 2 1 <t e w0 % fau B sk B --Select-- Choose File | No file
o e @ 2
(a) sofex By 75RA )y 70f= (D) k= y
A can doa certain job in 120 days. B is 60% more efficient than A. To do the same job B alone would take ) | Submit Objection |
how many days ?
(A) 80 days (B) 75 days (C) 70 days (D) 10 days
w600 B 1 38 7 v 0 Fesfier e, 500 et g e @ 400 Bl e d sin A --Select-- Choose File | No file
100 Fot Atemamsfiner 2T 50 frr/ez i = & o e S | 7 o o o sited e A S 2
10 A 5 i i 5 ]
A) 130— ff B) 65— ffi C) 62 D) 60 fafieer Wz - —
SRt R R (e o i | Submit Objection |
A person travels 600 km by truck at 80 km/h, 800 km by aeroplane at 400 kmvhr and 100 km by
motorcycle at 50 km/h. What is the average speed for the entire distance 7
10 . 5
(A) 130 = km/hr (B) 65 n km/hr (C)y 62 km/hr (D) 60 o km/hr
e e 7 25,220 FAW St £ S 9E v, 7 ST i 7w di e R 8 46 anm w0 ad 2 | 2t awaa C --Select-- Choose File | No file
waTe i 7 5% ¥, o1 sk (o 1 e i fifs)
A woman borrowed ¥ 25,220 and she returned the money in three equal instalments after one, two and Y
three years. If the rate of compound interest is 5%, then find the value of each instalment. | Submit Objection |
(A) TRO00 (B) %8261 (C) 79261 (D) 9,000
W SRR U S S e T 10% i gz FaT 2 | A 3w w7 e % 3,600 2, i g we B --Select-- Choose File | No file
ifr i gERT 10% g2 3 F ATE 20% 1o Afw # |
A shopkeeper allows a discount of 10% on the marked price of a camera. If the cost price of the camera is Y
% 3,600, find the marked price so that shopkeeper can earn a profit of 20%, after allowing 10% discount. - | Submit O bjection |
(A) %3650 (B) 4,800 (C) 5,700 (D) 4,750
A‘Bﬁci&a@zﬁﬁmﬁ?ﬂﬁiwﬁaﬂms:4:3ml4ﬁﬁ%m‘3}flm0:ﬂﬁrﬁiﬁ B --Select-- Choose File | No file
e o i 8 W e, € 22,000 sHfifes P form | afe o ad % ot @ w15 0 14 10,
T g § C 8 e il Y

A, B and C entered into a partnership, and their investment ratio was 5 : 4 : 3. After 4 months, B invested
¥ 1,000 more and after 8 months, C invested T 2,000 more. At the end of one year, if the profit ratio was
15 : 14 - 11, then find the investment of C at the beginning.

(A) T6,000 (B) 3000 (€) 7,500 (D) T4,500
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wEEE o, X g ;—ﬁm *g a3 oo Fw ward, Y 1;@ Ly R w2
T ¥ fom 3 O P a2 (At ¥ i uﬁvaWimmo%,%'lYm%ﬁnwém?

1 1 1 1
In a partnership, X invests ;'h of the capital for gm of the time, Y invests ;’d of the capital for =rd time
and Z invess the remaining capital for the whole time. If at the end of the year the profit earned is

¥ 23,000, then what will be Y’s share ?
(A) %5000 (B) %5500 (C) 4,000 (D) %6.000

M a,b, ¢, d, e i HAPT fae weArd € a1 S siaa e ?

If a.b, ¢, d, e are five consecutive odd numbers, then their average is
abede

@ ==

- (B) 6(a+4) ©) a+4

(Dy 9a+b+c+d+e)

=rshats o T T 3,000 i 1ifer 3 = = 6,000 @ St 2 1 A wwad @ fore e e 2 2
A sum of T 3,000 amounts to T 6,000 in two years at compound interest. The interest for four years is
(A) T12,000 (B) =9,000 (€) 3,000 (D) 6,000

e 3 sifibe W o 12% <1 g ¥ % e, Uk ghier 21% F1em i e 2 | afd @ a8 gz 4 2w,
1 = fererr v safsi o 2

After giving a discount of 12% on the marked price of a book, a shopkeeper earns a profit of 21%. If he
doesn’t give this discount, then how much profit would he eam ?

(A) 25% (B) 40% ) 315% (D) 37.5%

i Hems &, ga Tl 1 g o dred i o @ 1 af FE e i 44 2, @ w et den
TR

Of the three numbers, the second is twice the first and thrice the third. If the average of the three numbers
is 44, the largest number is

(A) 72 (B) 24 (©) 108 (D) 36

T i A 3 2025 e i , 39 S TETH ST 12 13 ¥ 1 12215 F S § 3 S O 9 O
= fepsgor w3 % o fepeeft e & el fovete v 7 smammaT 22

(A) 162 e (B) 160 wter (©) 150 e (D) 156 =t

In a 2025 litre mixture of milk and water, the ratio of milk to water is 12 : 13, To get a new mixture
containing milk and water in the ratio of 12 : 15, the amount of water to be added is

(A) 162 litres (B) 160 litres (C) 150 litres (D) 156 litres

Fraffea #ifaw & Ry 7=t § & 190 792 fu 70 we PUNISHMENT % 31871 o1 ST9RT F4% T8 T
ELRET N

Determine which of the provided words cannot be formed using the letters of the given word
PUNISHMENT.

(A) PAIN (B) PENT (C) SENT (D) PUSH
wgza i
it Wﬁlﬁ SR
(A) = (B) ¥ () (D) ferdt
Complete the analogy :
Engineer : Blueprint : : Chef:
(A) Ingredients (B) Menu (C) Kirchen (D) Recipe

40 Ferenféiat i ek e , 20 3 e S foramr g 1 15 Y rfore v &, i S e | 9w R
o v Teremef 3 = a1 wifora, = = fora, = =F =7 =1 8 1 = forenfefen 9 stem v Hifa faeer oo
it fta o 2 = |

In a class of 40 students, 20 have chosen only Biology and 15 have chosen Mathematics, but not Biology.
Given that every student has chosen either Mathematics, or Biology, or both. Find the number of students
who chose both Mathematics and Biology.

(&) 15 (B) 20 ©) s (D) 40
fow T g ¥ o N T I |
Find the missing number in the given analogy.
25:625::35:;
(A) B65 (B) 825 (C) 1225 (D) 1115

At T 2fErgd 1 3 i w0 I e § o 225 falt amad o w6 vw wwe w e e w
w3y

(A) TR (B T (©) g (D) e

What direction are you facing at the moment, if you start by facing south-east and tum around 225 degrees
anti-clockwise ?

(A) South-east (B) East {C) North-east (D) West
ST ST 41 207 2
‘What will be the next letter ?
E:H::N:?7
(A) P (B) O ©) R (D) Q

7% forerey 3 FA o1 W s & = wo s |

Find out the alternative which will replace the question mark.

12:26::7:24
(A) 12 (B) 8 © 9 (D) 6
1S e § ST ST EE 90 Hif |

Find the next letter cluster in the given series.
DA, HE,NK,RO, XU, ___
(A) BY (B) CY C) AY (D) XY

et & & #1787 ST FoEe, Talt S o & e F a0 G A ?

Which of the following diagrams best ill the relationship between Pigeon, Bird and Dog ?
w@ (3 0@ »Oo
Frafafaa # & #-ar e s d e s 2

(A) faesft —7mE (B) F - st (C) Ta — fafimFr (D) W - A

Which of the following pairs is different from the others ?
(A) Cat — Meow (B) Dog — Bark (C) Cow — Bleat (D) Lion — Roar

T B SR T o Tt faset o ¢ e 3 s wen 3 fvta % o - faaempt v w et
&7

(A) WHIER (B) Harge (C) @TFERE (D) Segars

“The company’s decision to downsize was prudent.” What does the word “prudent™ imply about the
company’s decision to downsize ?

(A) Wise (B) Reckless (C) Careless (D) Hasty
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PHRQ, SHa=E | pEITmAIAAR?

T T I A % A e (1) 3 (2) § e s 5 0

(I) R PHIWER SN THTHaR|

(2) UQFtaiE)

(A) e (2) (B) e (1) © (sitE)dE (D) aE () ar)
P and Q are children of S. Who is the father of P 7

To answer this question which of the statements (1) and (2) isfare necessary 7

(I} Risthe brother of P and the son of T.

(2) U is the mother of Q.

(A) Only(2) (B) Only (1) (C) (1)and(2)both (D) Either (I)or(2)

oy et A i BE S e = i A e, A S e S a6 S o aeed o A, wA-E
S $H Qe T U AT F7e7 s 7

L HRETIAGVSN

.  FLNESAGOMI

IIL  EXSONHTIAU

(A) FEEI (B) @i 111,11 (C) F=eri, I (D) = 101

After exchanging the 3 and 6™ letters and the 4 and 9 letters, as well as the 5™ and 10™ letters in the
given words, which series would result in a meaningful word after this rearrangement ?

L HRETIAGVSN

1L FLNESAGOMI

IIL  EXSONHTIAU

(A) Onlynl (B) AILILIN (€) Only 1L, 11 (D) Only I
i T HEAT e § SRt S w Fiew |

Find the next number in the given number seres.
126, 112, 98, 84, 70,
(A) 63 (B) 353 {C) 56 (D) o4

o T e i P wfen i fiofa i e wi @ o e 2
FY - UF Ha S % wETEA ¥ A s |

e

1. et = maey 3 e v o uE sem AT e |

2. wEdTddEE |

(A) Faa Fd 2m=r i (B) e e | w2
(C) Far = | sad 2= (D) =t e wrr €

Read the Statement and Conclusions given and decide which of the statement(s) i%/are valid.
Statement : An apple is good for an individual’s health.

Conclusions :

1. Apples are a good way to keep someone healthy and fit.

2. Grapes are better than apples.

(A) Only Conclusion 2 is valid (B) Only Conclusion | is valid

(C) Neither Conclusion I nor 2 is valid (D) Both the Conclusions are valid

afg 4 I o B A WS T 0
If % stands for ‘>’ whatis 3#35 7
Aa) -2 (B) 15 ©) 2 (D) 8

R a~b=a’+b,a*b=b2+a 2 a (3 ~6)~ 2 Fa Ffaw |
IFa~b=a+b a*b=b2+a, find(3~6)"2.
(A) 23 (B) 21 () 18 (D) 19

afz s 10 foft 2 7 i =< 2, frr oo ferft s < 3 ¥ 9w 6 ot ofi =t €, A1 sy i farg &
weig 3 smeeht sifew Rl = R o

(4) 1.6 Foeft wwifier fog & ®) 10 Fsft smifir g &

(€) 9.6 Tt wifirs fag @t (D) o fordt mifier faiz 3

What is your final position in relation to your starting point if you have walked 10 km South, then turned
90 degrees to the left and walked another 6 km ?

(A) 11.6 km from starting point (B) 10 km from starting point

(C) 9.6km from starting point (D) 6km from starting point

A §, 60% @ e A F 3 40% 7 fawen B w1 v Fem ) afk g 500 swEre &, @ e
w3 fershe A i o o 2

In a survey, 60% of people preferred Option A and 40% preferred Option B. If there were a total of 500
respondents, how many of them preferred Option A ?

(A) 200 (B) 100 (©) 400 (D) 300

Fer A e & — e § i e EnE @l
(A) =T (B) = (C) wIEH (D) #ferrmr

<Ff Tt B ST 1 FT e ved F-AT 2

() == ®) # © (D) &
FA FF T AFTHE 7

(A) aEwend foea g (B) THHIEE A |
(C) == ww fimed &) (D) TR FEAFE |
ST T A s A R ?

(A) " (B) e (€) e (D) foeamas
Frefafiad # & a3 78 =7 F1 99 i

(A) Tiraeh Biwam =i et g 2 |
(C) e draw #i wpa T |

B) FrodHman 1w a8 |
(D) Tire Bivar &1 Tt sie ST e |

frefafas amat @ FAm a2

(A) WieTged T SHeh THE wwar o A= 5 e |

(B) T %1 33 91 T e 99 T |

(C) TS % AT % feru samor &4 2|

(D) zu fafreares d gaicpe it i fafra sueea 2

Frefefiaa # & #m-g1 ve8 aean 2 9
(A) Fm (B) =@ (C) = (D) @

sgferersr wres 7 St ey sl et and S = et
() - (B) TH—F (©) Fror—tfem (D) fE —F=ar
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104 ST T 1 T T
(A) ©TW (B) W (C) % (D)
105 o w. 1058 109 TEiI 9H

I T T AAN &, T TeeA 9€ W F AT @ [ @7 § AT S B L | I o T qA & A A
ST gt St deat st By i wreer afd € S e @ R ot wd E B et g ar frdd st e qam
et o s fret | e firer € ST aTie aoe o # S S g # S & ae - we W e
AR #, T g e w1 S 39 S on 38 @ | wn, S 3 e sfaerd 1 o 2 s e 6
i =hrne foh orerst Teert ga g o T TR 8, T o S A H A o e § | s o o, o A e
F e S 91T T ST T o AT ST S T el ae |

T S A o e E 7

(A) F=a1 (B) e ©) I (D) st

106 Terter § Sty SRl #1

(A) TEETHITE R (B) facdizeE |

(C) SUEATHFITE R (D) =aFrTER
107 “FUEE F T A e 7

(A) FAEE (B) =+ ©) Trmes (D) sAfers &=
108 TEITT T S ¥ T SR 7

(a) e (B) ot (€) sv=E (D) el & e
109 TR

(A) ST (B) #AHT (C) ==m (D) Famn
110 Forar- o % e it 3 zarerr w0 Frefatad #§ & wE-w g a0

(A)  wHEEE T — b
(C) fraTorareres foman-fersianr — e

(B) e fren-fagmo — s
(D) Teufoarees form-fagm — == 7 w8

111 of 0 T R AT

(A) WA (B) g (C) IeaTE (D) fo=m
112 HEAT T ST TAdE

(A) HAT SR e (B) T 3T A

(C) % S e (D) Tarier stert =T S Eemn

113 Frefotaa ¥ s e

(A) wm (B) A (C) =fEm (D) =mE
114 2013 % Trarse w7 (37" 3 for wfeer steprat qren o fomm e 2

(A) Tz IR (B) =z daamel () TE i (D) gt
115 Frefefiad & & FE-87 30 FETT w5 w2

(A) & (B) = () « (D) =
116 T s % for wfee st pern fom v i femm e 2

(A) = e (B) =AY (C) T hid (D) Tifeeg fien
117 FreAfertiaa srear o & wh 1 o = 2

(A) FTr (B) T (C) s (D) s
118 WER’ 153 %1 S TeT #4012 ?

(A) (B) Wl (C) werEm (D) we™
119 ST (1) & AR B

(A) T Bt Frem (B) e da

(C) Aftreframor v (D) SFH G0
120 didiar ¥ - EAE R

(A) e B) fay (©) wEife (D) =T
121 frefafaa & & () e #Ew 22

(&) of fm (B) iy famw (C) weaTE® (D) T fas
122 It ¥ ST W ¥ % =W 9e fRe e # | Fefatan § dama dm e 0

(A) Tg9d (B) W (C) feassft (D) @it
123 BT w1 wata e d & @

(A) TFF (B) Fafa (C) =it (D) &
124 THE FH L F TS ¢

(A) Wi (B) Farem (C) =g (D) ST Tt A7
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(A) | (B) % (©) s (D) F=1

FvE 2 a8 I R e 20

(A)  =duT el (B) ot e (C) T e (D) WwTe Wi
Frefefiaa i & ue fasiow ses 2

(A) wWe= (B) =m=e (C) wed (D) =rdr
fu TTu e 3 fo we wres 0 -

i ST A A W

(A) FFFewE (B) 3FRfar (C) gt (D) /=
e, i, dtgar St a2 o

(A) Her (B) wepde fFam (€) qeafaw (D) R fam
a2 7

(A) e ® fa (€) =ara (D) =esife
T e 3 et St s A

(A) == F=T W fag 3 (B) ot EfT Fok i IgE

(C) wEaEs @St & (D) TEEELEAT

TR % S TETerEl o A o e E

(A) el a5 o (B) AR T

(C) g It AT a1 (D) ™ EA

few o s . - o % o i 4 v €, S fReare & 2 gu € 1 et wer i sae i fog = feeedt # &
o ¥ AT A Hae w @ | W fee i

=T - At :ﬁi: ?
(A) drem (B) @1 ©) ™ (D) &
In the given question, there are two words to the left of the sign :: which are connected in some way. The
same relationship obtains between the third word and one of the four alternatives under it. Find the correct
alternative.

Sugar : Sweet :: Lemon : 7
(A) Yellow (B) Sour (C) Juice (D) Fruit

e FAte #, 30% FHERT Afeend € | 60% Al FHEET dT 40% [ FHant e € wmatea §
SAfafen =i w1 AR w2

In an office, 30% of the staff is female. 60% of the female staff and 40% of the male staff are married. The
percentage of the unmarried staff in the office is

(A) 46% (B) 48% () 52% (D) 54%
Frafafas & & S oy 79 7@ 2 2

Which among the following is not a leap year ?

(A) 2004 (B) 2020 (C) 2024 (D) 2014

aﬁmmﬁ%ww‘aﬁﬂaﬁmﬁaﬁ@ﬁ 15 fire 3 & wgadt @ | 3% o sl
rater 3 dire ot 0T A e A e aren avre w e e o
(A) 44 fime (B) 25fie (C) 45T (D) 48 fire

Walking 3th of her normal speed, Athira is 15 minutes late in reaching her office. What is the usual time

taken by her to cover the distance between her home and office ?
(A) 44 minutes (B) 35 minutes (C) 45 minutes (D) 48 minutes

Frefafas swen & x #fit y 199 3@ Fif
Find the value of x and y in the following series :
U4, RR, 016, %, 164, F128, y
(A) K24,D345 (B) L32,C256 (C) G32,E256 (D) M32 B345

4f% DEEP =i 30, SEA &I 25 % ®v # =ifga fo=n = 2, af RIVER =0 Frm ®q o =ifea e

Hro ?

If DEEP is coded as 30, SEA as 25, then RIVER will be coded as

(A) 15 (B) 20 © 7 (D) 56
STHEH E i e |

Find the dissimilar term.
3X5,4U3,2R4, 302, IM3.

(A) 302 (B) 4U3 (C) 2R4 (D) 1M3
STHAF HEAT 1 i |
Find the dissimilar number.
1,3, 12,60, 340.
(A) 340 ®) 12 © 3 (D) 60

2T % AT U ST I T 1 e A I w2 S e 90 felt amimad o s are 180 fadt ammad
TEAT R | 314 3W = w1 e e Ran A a2 2

A o (B) afémr () 30 (D) fam

A person performing yoga starts facing North and then turns 90 degrees counterclockwise followed by
another 180 degrees counterclockwise. What direction is the person facing now ?

(A) East (B) South (C) North (D) West

Fe-afa fem i i = T st e At ey e e i 3mar 2

(A) sw-afm (B) aRmg (€) Iuigd (D) =feoafim
A person walking towards North-West direction sees his left hand in which direction ?
{A) North-West (B) South-East {C) North-East (D) South-West

HE9, 72,243,576, T |
Complete the series 9, 72, 243, 576, 2
(A) 1125 (B) 1250 (€) 998 (D) 876
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UPPRPB

AR ASB I ATR A BR @ E; A# B w a2 <A BAIAI 2 A x B A2 A, BFtaeA &, dt A --Select-- ]
WHXXVSUTW,UFFHaarans?

(A) = (B) =m@r ©) =t (D) =&

If ‘A § B” means “A is the father of B’; ‘A # B” means ‘A is the mother of B”; ‘A x B’ means ‘A is the

sister of B, then how is W related to Uin WEX x VU ?

(A) Grandmother (B) Grandfather (C) Mother (D) Mother-in-law

Choose File | No file chosen

| Submit Objection |

ek fafara i 48 97 31 “which school” 317 968 %1 51 “college and school” ¥ | &ge1 % for #te 71 B --Select--
£

In a certain code, 48 means “which school” and 968 means “college and school”. What is the code for

school ?

(A) 4 (B) 8 ) 6 Dy 9

Choose File | No file chosen

| Submit Objection |

I X#vHmamaifex, yHaid A --Select--
2. YszifmEmmEfEyY, Zza s R

3. zrAsTEwEEfEZ, AFFE R

1 T fram = e 2 2

(A) A (B) X ) Z (D) Y

1. X#Y indicates X is the mother of Y.

2. Y §$ Zindicates Y is the brother of Z.

3. Z* Aindicates Z is the daughter of A.

Then who is the father of the family 7

(A) A (B) X ) Z (D) Y

Choose File | No file chosen

| Submit Objection |

Frmfefia s # W@ feat S0 # K % de et sl K % i aa o £ 7 A --Select--
How many ‘S’ are there in the following series that come immediately before K and immediately after K ?

SSKSKSRKSPOKSKSKS

) 3 B 4 © 2 (D) 5

Choose File | No file chosen
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Frfertias .= e TR o TR 3 R T e w5 e e qar & | WA 6 s fiia 3 B --Select--
S ST T 54 6 Ie i |

Tt G % T A B A A = (T )

afe el &t ue fafire we 3 fe gEoranTa € 40,200 2, 7 (R & wEn W R s 2
(A) £21,000 (B) 20,100 (©) £22,800 (D) £22,500

The following pie-chart shows the percentage distribution of the expendi incurred in publishing a
book. Study the pie-chart and the answer the question based on it.

Various Expenditures (in percentage) Incurred in Publishing a Book

Promotion Cost
10%

Transportation Cost
10%

Binding

20%

Paper Cost
25%

If the printing cost for a specific quantity of books amounts to ¥ 40,200, what will be the expenditure for
promotion of these books ?
(A) T21000 (B) 20,100 (C) T22,300 (D) 22,500

Choose File | No file chosen
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11 we=it arelt uw fithe 4 @ FE 29 9 @ 2, o Tk @ & 9 ad awn 2 ) af s i B --Select--
bz 61 ey o it o T, 1 i 3 ) et < i g g i o) s o @ A d

HECE R LRI ELIE ]

(A) 23ad (B) 22a§ ©) 21ad (D) 24ad

The captain of a cricket team of 11 members is 29 years old, and the wicket-keeper is four years older than

the captain. If the ages of the captain and the wicket-keeper are excluded, the average age of the remaining

players of the team is two years less than the average age of the whole team. What is the average age of

the team 7

(A) 23 years (B) 22 years (C) 21 years (D) 24 years

Choose File | No file chosen

| submit Objection |

ez wrd = e wfvan 3 St s w5 v R awian @ ) A gz e 3 R ofaw 6 ga e B l--se|eCt"
ST F 32,500 2, 1 Hie S I WA 5§ @ i g A a2

T TiET e =

wfarey
1%

fafu
Farfaremn
12%

et et T frr
.
23% 18%

(A) T12,200 B) 711,700
(C) 18,500 M) % 11,000

The pie chart provided shows the percentage breakdown of a family’s domestic expenditure. If it is given
that the family’s total monthly income is T 32,500, then what is the total monthly amount spent on food
and entertainment combined ?

Domestic Expenditere of a Family

Provident Fund

Food

Medical
12%

Child
Education
23%

House Rent
18%

(A) £12,200 (B) 11,700
(C) 18,500 (D) 11,000
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